
EC262 Problem Set 2 (Solutions) 
 

Due: Wednesday 29 August 2012 
 
Complete the following problems from the textbook Digital Design with an Introduction to the 
Verilog HDL, Mano and Ciletti, Fifth Edition.  
 
Chapter 1 

Problems: 22, 30. 
 
 
 
 
Chapter 1 
 
Problem 1.22: Convert decimal 6514 to both BCD and ASCII (with MSB = even parity bit) 
 

BCD:  0110 0101 0001 0100 
ASCII (7 bits): 0110110 (5410)  0110101 (5310)    0110001(4910)    0110100 (5210)   
ASCII (w/ even parity) =: 00110110  00110101  10110001  10110100 

 
 
 
Problem 1.30:  73 F4 E5 76 E5 4A EF 62 73 
 

a. Convert Hex to binary to ASCII. The leftmost bit is a parity bit. 
 
73:  01110011  s 
F4:  11110100  t 
E5:  11100101  e 
76:  01110110  v 
E5:  11100101  e 
4A:  01001010  j 
EF:  11101111  o 
62:  01100010  b 
73:  01110011  s 
 

b. Determine parity used: odd parity. 
 
 

 


